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NEW
2017
Part-1 3-Tier

BOTANY
PAPER—I

(General)}
Full Marks : 90
Time : 3 Hours

The figures in the margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Hlustrate the answers wherever necessary.

Group—A

1. Answer any ten questions of the following : 2x10.
(a) What is endospore ? Mention its function.

(b) What is transfusion tissue and where is it found ?
Mention its function.

(c) Write two differences between flagella and pili with
example.

(dY Why is Riccia called as ‘Liverwort’?

() What is index fossil ? Give an example of Index fossil.
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{f) How Protostele differs from Siphonstele ?
{g) What is heterothellism ? Give an example.
(h) What are Koch’s postuletes ? Who proposed this?

(i} Difference between Epigeal germination & Hypogeal
germination. Give example from each.

(i} Give the economic importance of the family Solanaceae.
(k) What is Gaidukov phemoneum ? Give an example.
{1}, What is Kelp ? Give an example.

{m} What are claters & pseudoelaters ? Give an example
for each.

(n} What are Polyad and Pollinia ? Give an example for
each.

(o) What are the differences between aggregate and
compound fruit?

Group-—B

2. Answer any five questions of the following : Bx5

(a} (i) Discuss about the difference between Lytic and
Lysogenic cycle.

(i) Briefly discuss about the transformation process
of bacteria.

(iii) What is mesosome and mention its function ?
3+3+2
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{b) (1)
(1)

(e} (1)

(i)

Describe the sporophytic plant body of Funaric.
What is coal ball? 6+2

Classify Bryophytes according to Proskauer (1957)
upto class with class characters.

What is Peristome teeth ? 6+2

(d) Distinguish between (any four) :

{1)
(i1)
(i)

(iv}

Eucarpic and Holocarpic fungi ;
Euphorbiaceae & Asteraceae ;
Berry &_ Drupe ;

Lichen & Mycorrhiza.

(¢) Name the causal organism of Black stem rust of
wheat. Discuss about the symptom, disease cycle and
control measure of it. 1+2+3+42

{fi Give an outline of Bentham & Hooker’s System of
classification. Mention one merit and demerit of this

classification. 6+2

(g) Mention differences between the two : 2%4

(1)
(i1}
(i)

(iv)

Solanaceae / Lamiaceae ;
Rubiaceae / Verbenaceae ;
Brassicaceae / Apocynaceae ;

Simple fruit / Aggregate fruit.
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(th) Describe the characteristics of Orchidaceae family.
Why it is regarded as highly advanced among
Monocets ? What is Cvathium inflorescence ?

4+2+2

Group—C
3. Answer any two questions of the following : 15x2
{a) (i) Discuss the different phages of bacterial growth

with graphical representation.

(iii Briefly discuss about the process of bacterial
conjugation.

{iiij Difference between gram positive and gram
negetive bacteria. 8+5+2
(b} Write notes on :
(i) - Cultivation process of Cashewnut.

(i) Anatomical structure of Cycas leaf.
{iii) Process of fossilization. S5+5+5
{c) (i) Describe with lebel diagrams of different types of
Racemose Inflorescence.
(i) Contrivances of Cross Pollination. 10+5
{d) Mention the characteristics of Asteraceae family. Why
this family is regarded as highly evolved among

dicots. Write about post fertilization changes in
Capsella sp. 5+3+7
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